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1-1. Which positive integer n satisfies e op?V — 3 1-1.

1-2. In non-equilateral isosceles triangle T, the length of each side is an 1-2.

integer. What is the least possible perimeter of T?

1-3. Buses A and B always arrive on time: A

1-3.

every 16 minutes, B every 9 minutes. I
take 6 minutes to walk to A’s stop and 10
minutes to walk to B’s. I leave at random
times, and I always walk to the same
stop. To which stop (A or B) should I
walk to minimize the expected amount of :
time I'd take both to walk to that stop and to wait for a bus to arrive?

1-4. As shown, four cubes (with respective
volumes 1, 8, 27, and 125) are attached
to each other in a way that minimizes
the total surface area of the resulting
configuration. What is the total surface
area of this configuration?

1-4.

1-5. The equation 53 = (8 X5)+(8+5) shows how to represent 53 as the
product plus the sum of the same two positive integers. What is the
least integer greater than 53 which cannot be represented this way?

1-6. If x = 22x 3% and y = 28 x 3%, what integer z satisfies ¥y = 2%
(Note: Your answer should not be expanded. Instead, write your
answer as a product of powers of primes.)

1-6.
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